IV. #WERIH O35



RNV-1 BHATHRATSEILIIONT (HHEEZE)

(BEAL: 14, %)

W B A & it
e N AE AE %
RAREILE KK -E L - ILFE) 38 20.9 52 25.1 90 23.1
2HEE 34 18.7 33 15.9 67 17.2
RE 12 6.6 19 9.2 31 8.0
1EEE 21 115 18 8.7 39 10.0
KB 21 115 30 145 51 13.1
HEE 38 20.9 16 7.7 54 13.9
®IRE 1 0.5 7 3.4 8 2.1
tE&E 4 1.9 4 1.0
BEiLEE 1 0.5 0.3
ZDith 7 3.8 9 43 16 4.1
g EIESS 10 55 18 8.7 28 7.2
=} Hi 182 46.8 207 53.2 389 100.0
TDHDA
(BAAST - 4)
o BIZE X
s BE | A
i 223 1
pic)as] 1
ING R 1
BES 1
AK 1 1
HE 1
mAETH 1
fnE 1
Fqa] 1 2
EE2 1
I\ 1
& it 4 10




RIV-2 RREWLEDOFALLEFEIZDONT

(B ¥4, %)

& A =X

H-5 % 425 % H3 %
EfEGL 42 519 38[ 413 80[ 46.2
10% K jifs 5 6.2 5 5.4 10 5.8
10% ~20% ki 4 49 4 43 8 4.6
20% ~ 30% K i# 4 4.9 4 43 8 4.6
30% ~40% ki 1 1.1 1 0.6
40% ~50% kK it 2 2.5 1 1.1 3 1.7
50% ~ 60% ki 5 6.2 2 2.2 7 4.0
60% ~ 70% K ¥ 2 2.5 4 43 6 3.5
70%~ 80%k jit 3 3.7 3 33 6 35
80% ~90% ki 4 4.9 10[ 109 14 8.1
90% ~ 100% ki 3 3.7 9 9.8 12 6.9
100% 7 8.6 10l 109 17 9.8
EOZE 1 1.1 1 0.6
= i 81| 100.0 92| 100.0 173 100.0

KRIV-3 RKRELEOFALLEEDLEL (EHHAEFR)

(BT 4. %)

Lt LT ER (A EEEAS BIEE XK

B | BIE | | RS | G4 BE | % | IS | % | BE

A D H 6 6.7 6 6.7 47| 528 30| 337 89| 100.0
B D A 8 9.3 6 7.0 39| 453 33| 384 86| 100.0
=111 14 8.0 12 6.9 86| 49.1 63| 36.0 175| 100.0




KRNV-4 KRBWEOFALEOEIL (GERER. #@H AR

(BEAE: %)

— L= LTz AL EAEES EBES

451 % {431 % 431 % 451 % 451 %
5 5 7.4 4 5.9 36] 529 23| 338 68 | 100.0
BFla 1] 333 1] 333 1 33.3 3| 1000
fkE - AL 1| 333 2| 667 3] 1000
A# - RE 5 1| 143 1| 143 3| 429 2| 286 7| 100.0
=2t 2| 66.7 1 33.3 3] 100.0
EE -1 2| 286 3] 429 2 28.6 7] 1000
JLEH 0 0.0
EXx-AM 2] 500 2 50.0 4| 100.0
i) 2|  66.7 1 33.3 3] 100.0
LR 5/ 100.0 5| 100.0
TEHER 3] 600 2] 400 5] 100.0
— AR HE AR, - B0 & 1l 125 1| 125 2] 250 4] 500 8| 100.0
EX-EFE& 1] 333 2 66.7 3] 100.0
EEERE: T 1{ 100.0 1] 100.0
(e e 1] 100.0 1| 100.0
EEBR 1] 100.0 1] 100.0
TS5RAFyHHE 1 50.0 1 50.0 2] 100.0
DB EE 1 8.3 6] 500 5] 417 12 | 100.0
B E 2] 66.7 1 33.3 3| 100.0
ENFEE 2| 222 5 556 2| 222 9] 100.0
INFEZE 1 250 2| 500 1 25.0 4] 100.0
H—EXE 2| 400 3| 60.0 5] 100.0
S B 6 6.7 6 6.7 47] 528 30| 337 89 [ 100.0

(BT 44, %)

W BELT- B LT- I EEES EBES

451 % 42 % 42 % 42 % 42 %
& 8l 11.0 5 6.8 34|  46.6 26| 356 73| 100.0
BFlam 1]  25.0 1]  25.0 1]  25.0 1 25.0 4| 100.0
fkeE - AL 2] 100.0 2] 1000
AM-AE 2] 100.0 2] 1000
=21 1 200 3] 600 1 20.0 5] 100.0
EE -t 2| 200 6] 60.0 2 20.0 10| 100.0
JLEH 0 0.0
EXx-5M 2] 500 2] 500 4] 100.0
#% 50 2|  66.7 1 33.3 3] 100.0
TR 1l 20.0 3] 600 1 20.0 5| 100.0
TEHER 1| 25.0 1| 25.0 2 50.0 4| 100.0
— RSB AR, - B0 & 3] 300 3] 300 4] 400 10| 100.0
ER-EFE&S 3| 50.0 3] 500 6| 100.0
EEERE:T 1{ 100.0 1] 100.0
BEE R 1] 100.0 1| 100.0
AR 2] 100.0 2] 100.0
TS5RAFYHHE, 1| 100.0 1] 100.0
ZTDEEE 3] 231 4 308 6| 462 13| 100.0
BEEE 1] 1000 1] 100.0
ENFEE 1 167 3] 500 2 33.3 6| 100.0
/J\m% 1] 100.0 1] 100.0
H— % 2| 40.0 3 60.0 5] 100.0
& i 8 9.3 6 7.0 39] 453 33] 384 86 | 100.0




RV-5 RAZLUBZFALCBEARYORS (#iH AEER)

(B s - 58, %)

s g 1 EXEND EXEME AVTFOAN s = P
[ZEAEEREY FHB gy 2 FEAEITF &&t
iz % iz % iz % 3 % i % i %
BADH 7 13.0 4 7.4 3 5.6 7 13.0 33 61.1 54 100.0
EHiHDH 5 14.7 1 2.9 11 32.4 17 50.0 34 100.0
£NV-6 KAELEZFRAL-BEAEMORS (EER)
— T = (BT 4, %)
S sfp e t E D t E aAVTTFDAEM S, = A
@ A IZEAETEREY FHB gy o FEAEIVTF &&t
(L2 % [i20 % 5 % #3 % 3 % 3 %
& 7 175 3 7.5 1 2.5 6 15.0 23 57.5 40[ 100.0
B R 1 100.0 1 100.0
T - A R 2 100.0 2 100.0
A - ARE SR 1 33.3 1 33.3 1 33.3 3 100.0
L& & 1 25.0 2 50.0 1 25.0 4 100.0
E&E - LS 2 40.0 1 20.0 2 40.0 5 100.0
JLEG 0 0.0
EX-BH 1 25.0 3 75.0 4 100.0
£ 80 2 100.0 2 100.0
LR 1 20.0 2 40.0 2 40.0 5 100.0
EEES 2 66.7 1 33.3 3 100.0
— A HEA - S0 1 33.3 2 66.7 3 100.0
E5-EFHE 0 0.0
EEER-In 0 0.0
X 2R 0 0.0
AT 0 0.0
TSRAFyHE B 0 0.0
ZDhEE % 1 12.5 1 12.5 6 75.0 8 100.0
BEEE 2] 100.0 2] 100.0
EN5EZE 1 16.7 1 16.7 1 16.7 3 50.0 6 100.0
INGEE 1 33.3 2 66.7 3] 100.0
H—ERE 3] 1000 3] 1000
= B 7 13.0 4 7.4 3 5.6 7 13.0 33 61.1 54 100.0
TEED EREGE —5F7 (B o - . %)
o st g EXEMD TEE AVTTDAN = o
# i [FEAEEREY HHB Ly g 20 FEAEITF =X
3 % 3 % 3 % 3 % HE % 3 %
= 3 10.3 1 3.4 10 34.5 15 51.7 29[ 100.0
BH& 1 50.0 1 50.0 2| 100.0
ik - At 1 100.0 1 100.0
At-RE R 0 0.0
LEE R 2 66.7 1 33.3 3] 100.0
EfE-{LH 1 16.7 3 50.0 2 33.3 6] 1000
JLEG 0 0.0
EELRETT 0 0.0
8] 1 50.0 1 50.0 2| 100.0
<R 2 100.0 2| 100.0
2EHS 1 50.0 1 50.0 2| 100.0
— B R - 305 2 40.0 3 60.0 5| 100.0
EX-EFEam 0 0.0
EEER- T 0 0.0
EEARER 0 0.0
A 0 0.0
ITSRAFYIE G 0 0.0
FRMEEE 1 16.7 1 16.7 1 16.7 3 50.0 6] 100.0
BERE 0 0.0
5T 1 333 1 33.3 1 33.3 3] 100.0
INTEEE 0 0.0
b—ERE 1 50.0 1 50.0 2] 1000
& i 5 14.7 1 2.9 11 32.4 17 50.0 34]  100.0




RV-7 BHIUTTFOHREARYME GRIER)

(B - 44, %)

.. 10k ~ 50k> ~ 100k ~ . s

E»Helj A lﬁ/*;ﬁ 50_|“~/5E;ﬁ 102")5&;% 5()_()|‘>5E;ﬁ 502'“/1/JJ: & &t
B | % | B % | B3] % | B ] % | B % | B% ] %
aEE 10| 625 3] 188 1 6.3 2| 125 16| 100.0
B 0 0.0
A - A 2| 100.0 2| 100.0
Rt -KREH 0 0.0
L& & 1| 100.0 1| 100.0
EE- b 2| 500 1| 250 1| 250 4] 100.0
dJLER 0 0.0
EX-BH 0 0.0
SX 0 0.0
EHERE 0 0.0
EEHEA 1| 500 1| 500 2| 100.0
— AR - ED 1| 333 1| 333 1| 333 3| 100.0
BER-EFES 1| 100.0 1| 100.0
EEERE:TTR 0 0.0
LR ER 0 0.0
AT 1| 100.0 1| 100.0
TSRAFVHE5 0 0.0
ZDhhEEE 1| 500 1| 50.0 2| 100.0
BERE 1| 100.0 1| 100.0
ENFEE 2| 500 1| 250 1| 250 4] 100.0
S 1| 100.0 1| 100.0
H—ERE 1] _100.0 1] _100.0
& i 12] 522 4 174 3] 130 3] 130 1 43 23] 100.0
(B 4. %)

. . 10r> ~ 50k~ ~ 100k> ~ “ps =

o l"/ ke 50h> kil | 100b1 kil | 500k ki 502#»11 ? &t
] 9% | HE ] % | A % | HE] % | 4% % | 4] %
aEE 9] 60.0 4] 267 1 6.7 1 6.7 15| 100.0
B 1| 100.0 1| 100.0
- KA 1| 100.0 1| 100.0
Rt -KEF ol 00
EZEE & 1| 100.0 1| 100.0
E&E- b 3| 600 1| 200 1| 200 5| 100.0
L85 of 00
EX-BH ol 00
SX 0 o 00
EHERE ol 00
EREEM 1| 100.0 1| 100.0
— AR M - ER S 2| 100.0 2| 100.0
EX-EFH & ol 00
EEERE:TT ol 00
L REER ol 00
AT ol 00
TS5AFYIER 0| 00
ZDHhEEE 1| 250 2| 500 1| 250 4[ 100.0
BERE ol 00
EIFEE 1| 100.0 1| 100.0
INTEE ol 00
H—ERE 1| 500 1] 500 2| 100.0
= i 10]  55.6 5] 278 2] 114 1 5.6 18] 100.0




KIV-8 EHILTFTOFAEICONT (FIEH)

(B - 30, %)

RKA=WE  [RKRZLBLZR| KAEWLE -
DHF A LS DELFIR | LS OEEFIA = i
¥ % ¥ % ¥ % ¥ %
B 3 9 27.3 8 24.2 16 485 33| 1000
BH &
R - R 1 50.0 1 50.0 2 100
R#t- R85
fLZH & 3| 1000 3 100
E&-LHE & 1 20.0 3 60.0 1 20.0 5 100
OILE S
EX-aH 1 100.0 1 100
EHER 2 66.7 1 33.3 3 100
TREHE&A 2| 1000 2 100
— REHEAR - BB 3 50.0 3 50.0 6 100
BEX-ETFEMA 1 333 2 66.7 3 100
BENE - 1 100.0 1 100
BE R
YR 2| 1000 2 100
TIRAFYIE G 11 1000 1 100
ZDHhEEE 1 25.0 2 50.0 1 25.0 4 100
BERE 11 1000 1 100
HIFEE 1 20.0 3 60.0 1 20.0 5 100
INFEE 1 50.0 1 50.0 2 100
H—EXE 1 333 1 333 1 33.3 3 100
a &t 12 27.3 13 29.5 19 43.2 44 100




000l [¢6 v'G G ey |y 8'6 6 8'6 6 Ggl  [L1 6€C |ee €8z |92 ] =]
000l [ €ee |1 £99 [¢ EYd1—4&
G0l [8 00z |1 gzl 1 06z ¢ 06z ¢ 06¢ |¢ E N0
0001l [L eyl |1 98¢ |¢ evlL |1 6cy |€ 2L
000! [¢ 000!l [z EEE
G/0l |8 00z |1 06z |2 GgLe ¢ 06¢ |2 EEEWOX
000} [S 00z |1 00z |1 ooy |[¢ 00z I WELLY L
000L [1 000L [1 W ZEY
00 |o e b
0001 [2 005 I 005 |[!I g -=EE
000l [€ gee |1 99 |2 e R XE
000l [21 €8 1 L9l |z L9l |2 L9l e Ly s o - W —
00L |z 00z |1 005 I TEES
000l [€ gee |1 L99 |2 EZTYIHE
00L |[¢ 00z |1 005 |1 Wg¥3
000l [€ gee |1 £99 |2 We -3
00 [0 e ST
000l |1 'L | vz |¢ vz |¢ 'L | vz |¢ vie |¢ QO ) - B X
000l [O1 002 |[¢ 00Z |[¢ 00l |1 00l |1 00l |1 00¢ |[¢ 2 £ 1)
000l [¥ 06z |1 005 |[¢ 06z I HPEN - Y
000l [€ eee |1 gee |1 eee |1 B4 SF - BT
00 |0 FEEVE=
000! [2L 9¢ |¥ v ¢ ETE L'6 L L9121 v9z |61 v9z |61 =25
% %4 % %4 % %4 % %4 % %4 % %4 % %+ |% %4

- VENGERZ |QVILNZEFZ | VB YEE | AW | ZENHEEZ | @2 (¢
WHFERE | HEOWOY laongey | gomeEe | genzem | vinwy | Borsne | vrozon

(% “¥g+ TheE)

(REIRE) (EEF) BHEV2LHLWEMEYY2HE L CEE 6-A1ZE



RNV-10 ETRAZWAZFALELESR @HEAEERN) (BHEE)

(BEOL: 3L %)

AENRA| 4 B2 e MBI | BB BE |y pipee | 1AE8. 32 | HUIO 2T .
EIBES [ #AMREL | ‘woTT Ny [FANERA FIRoE | T BT | HEETHE| U, e | mEE & &
ELTWS | TW3 O} RIASERLY HAFEL | BEEARL
B % |45 % |45 % |45 % || % || % | 4Ek] % | s % | HE] % [ EE] »
HADH 3| 200 2| 133 2| 133 2| 133 2| 133 1| 6.7 1| 6.7 2| 133 15/100.0
DA 4| 66.7 1| 16.7 1] 16.7] 611000
& F 3| 143 2| 95 2| 95 6| 286 2| 95 1| 48 2| 95 2| 95| 1| 48] 21[1000
RNV-11 2 TRAESLUEZFIBALI-ER (GERER) (EHEZ)
(BEL: #E3K. %)
BEMRK | KA BR | sopap e | BICLA | BRI | AT | #EE, B8 | KYIO 2 }
ZEILiEEE | HAEEL oD JRREFAMN %l-bzb% fRELTLY &ﬁrﬁﬁu& LLM’.:‘EM# EEE & F
ELTWA | TWLB T e BERIASRLY % ALY | RIARL
B % | HE%] % |45 % |45 % || % || % | 4Ek] % | s % | HE] % [ EE] »
WEXE 2| 143] 2| 143 1l 7.1 4| 286 1l 7.1 1l 7.1 1l 7.1 1| 7141 1| 71| 141000
B & 1(1000 1| 00
A - OHL & ol 00
A - ARE G ol 00
(A= ol 00
B - e S 1(100.0 1(100.0
JLEG ol 00
EX-AM 1| 50.0 1| 50.0 2(100.0
S5 40 1| 50.0 1| 50.0 2(100.0
R 1(100.0 1(100.0
EEHA 1| 50.0 1| 50.0 2(100.0
— AR AR - BB ol 00
B -EFEM ol 00
BHENE - A& ol 00
Lbe s ol 00
BB ol 00
TSRFVHE G o 00
ZTDhEEE 1| 200 1| 200 1| 200 1| 200 1| 200 5/100.0
BEEE 1| 333 1| 333 1| 333 3/100.0
EIFEE 1(100.0 1(100.0
INSES 1| 50.0 1| 50.0 2/100.0
H—EXZE 1(100.0 1(100.0
& & 3| 143 2| 95 2| 95 6| 286 2| 95 1| 48 2| 95 2| 95| 1| 48] 211000




RV-12 KRELUEO—MARAEOERRUVEE EHAREN) (BHEEZE)

(BAGL: 1. %)

=D L RS- s R
szorEs [ FEIZO o | The. B BEERO | 2o REE &
= st safe
HE |l % || % | sk % | sk % | gk % | HER) % | HER] % | HE] %
HADH 15| 250 8| 133 8| 133 5/ 83 3l 50 2| 33| 19| 317 60| 1000
HHDH 4] 121 3] 91 1 3.0 25| 758 33| 100.0
& &t 19| 204 1] 118 8| 86 5/ 54 4] 43 2| 22| 44| 473 93| 100.0
RNV-13 RABUEO—SFAHEOERRVEE (¥(7EH) (EHEZE
(B 430, %)
D L 1 RE O
seoREy | BAIARO o | THe. B BEERO | 2ot RES &
P saE sahE =
| % || % | s % | sk % | HEh| % | s % | B % | HE]| %
BEE 14| 412 7| 206 5| 147 2| 59 4 118 2| 59| 35| 1029 34| 100.0
B & 1| 1000 1| 1000
i - A 1| 200 1| 200 1| 200 2| 400 5| 1000
A - RE S 1| 250 3| 750 4| 100.0
LZH S 1| 143 1| 143 1| 143 4| 571 7| 1000
E&- L& 1 8.3 2| 167 2| 167 1 8.3 6| 500 12| 1000
JLES 0 0.0
EXx-maM 1| 333 1| 333 1 3| 1000
$550 1| 333 1| 333 1 3| 1000
EHER 6| 600 1| 100 1| 100 2 10 | 100.0
EaE LT 2| 500 1| 250 1 4| 100.0
— AR - BT S 1| 143 1| 143 1| 143 4 7| 100.0
BR-ETFHHM 1 1 0.0
BHENE -5 0 0.0
R 0 0.0
FEERW 0 0.0
TSAFYIE G 0 0.0
ZDihEY 1 8.3 1 8.3 1 8.3 9 12 | 1000
BEE 1| 333 1| 333 1| 333 3| 1000
falbpES 3| 214 1 741 2| 143 2| 143 6 14 | 100.0
INTEE 1| 333 1| 333 1 3| 100.0
H—ER¥ 2| 500 2 4| 100.0
& &t 19] 204 1] 118 8] 86 5] 54 4] 43 o] 22] 44| 473] 93] 100.0




098 | L6 0¥l |8 88 /3 gl 1 Ge Z €6 3 0L v 88 /3 0¥l |8 0¥l |8 8¢z |¢l 000! LS g 8
000l |2 000l |2 00 3 ¥ a—+4
000} | 000} | gL L EA;
000l |9 005 |¢ Lok |1 Lok |1 Lo |1 g0l |9 ¥a5y
00 0 00 0 ExeE
000l |G 00z |1 00z |1 00z |1 ooy ¢ 88 g ETEWNO
000l | ¥ 06z |t 06z |t 0sz |t 06z |1 oL |¥ WL ALY CL
000l |2 005 |t 00s |t ge  |e LR
000} |t 000k |1 8l L WHEEBEOWHOX
000l |2 005 |t 005 |1 ge |e Hds . S (EE
000! |G 00z |1 00z |1 00z |1 ooy ¢ 88 S TIREM IR R
000l | L erL |1 erL |1 erL |1 erL |1 62F | ¢ gel L R - Y —
000l | 000l | 8L L R
000k |1 000k |1 00 L ETYIE
000l | 000} | gl L WEYE
000l | 000l |t 00 L S9F-kx
00 0 00 0 W=
000! |6 LLL L et |¢ gee | ¢ gee | ¢ 8GlL |6 W) - =
00 0 00 0 WiELT)
000l |¢€ gee |1 L£99 |2 ] € e -
000l |¢€ gee |1 L£99 |2 ] € KL - B
000l |¢€ gee |1 gee |1 gee |1 ] € TE
000l |2v gvl |9 8Y z v'e 1 8Y z v'e 1 1L [ 6L |G 06l |8 06l |8 982 |2l LeL | ey xope
% | BH | % | HBH| % |BH| % | HH]| % | BH| % |[HBH]| % | BH| % | BH ]| % | BH| % | %BH | % | BH % | %H
@é; . VEN (BS | QVLME | 12 VB E
e S E WBOY m}ﬁ.uw\ A TEC: i S ;@ééwﬁﬂﬁ ¥ ERHE ZHOWGE | EZHOMYG (2121 2E2 £I512 Py T
WNGHIRERG | R (| DI E Y- wﬂ,”_.wo,_xn #«%aﬁ%@ B pmmuﬁ HOMGEDY SIS
HAZEOUHE YHZIFOH | X2 0ZLE | HOHEBRERE -

(% 4 T)eE)

<gEWRE> (FEFX) HEVINCEHEYBONGHMEXY) VI-AIZE




000!l |19 86 9 86 9 91 L 9l L €e z 86 9 86 9 9L |ol 9L |o1 ez |el 0001 19 £ g
000l |+ 06z |1 06z |1 06z |1 06z |1 00 2 =Y a—4
000l |2 005 |1 005 |1 ge e X[,
000l |1 1L 1 1L ! 1L ! 1L ! evL | ¢ 982 | ¥ 982 | ¥ 0€z |¥! ¥y
000l |2 005 |1 005 |1 00 4 ExE
000l |8 06¢ |¢ gl L gl L Gl L ¥4 L 0sc |¢ 1'eL |8 ETEWO2>
00 0 0 WRELALY L
000l | ¥ 062 L 062 L 00 |¢ 99 |¥ Ef ot
00 0 0 WHESBOHOX
000l |1 000l |1 91 1 Hiz-=EE
000! |¢€ gee |1 gee |1 gee |1 67 ¢ HHgoEER L BXE
000l |2 005 L 005 L €e ¢ o - W —
000l |G oor |¢ 00z |1 00z |1 00z |1 78 |s WEET
000! |2 005 |1 005 |1 00 14 EHTYIE
00 0 0 WE¥s
000l |1 000l |1 00 L SF-(E
00 0 00 0 WETE
000l |9 R 4 R 4 gee | ¢ 86 |9 W) - W
000l |¢€ gee |1 gee |1 gee |1 00 € WEET)
000l |1 000l |1 91 1 T - Y
000l |1 000l |1 91 L WK E - B
000l |2 005 L 005 ! [ 4 TEE
000l |6¢ goL | ¥ 87l |6 97 ! 97 ! 97 ! goL | ¥ g0l | ¥ TR K] 87l |6 Goz |8 6€9 |62 X%
% ¥4 % 4 % ¥4 % ¥4 % 4 % 4 % ¥4 % ¥4 % ¥4 % %H | % 4 % | %4
i VIEWE( (PR P! V2
. @ SR vt sy BN DAL R RN ,m&,wmwm@ Mﬁwwea@ mwweﬁ@ gunzge | HOIEE 1
L EQGY InGE IR | C1 Y- EE MMM@?_K Wﬂ«%@#% el VNM% HOWNGEDY SIU =B
CYHAZIEOW|CRLO0F X E| HOHEBRER

(% “H:T#)

<ZE%H> (LE¥E) HIEVINCHEFGBONGHMEYXY) SI-AIE



0001 |8l 7L ol L0 I 8G 8 '6 el 181 14 91l 91 zee 43 6'€C ee £ 8

000l |§ 002 I oor |2 oor |2 ¥vYa—+4
000l |9 L9l I L9l I L9l I €€ 14 L9 I SR\ ]
000l el Gl 14 v'Gl 14 1'€¢ € v'Gl 14 v'Gl [ Gl Z ko
000l |1 000l |1 EFE
000l |2l €8 ! €8 L €8 L L9l 14 gee 12 (V14 € FEEWOX
000l |t 062 I 062 I 062 L 062 I WRELLYCL
000l € gee L gee L gee L W EH
000l |1 000l |1 HHEHOHOX
000l |2 005 L 00§ L WiR-=EE
0001 oL 00! I 00! I 00! I 00! I 00¢ € 00¢ € WiREMHIREE
0001 |€l L'L L L'L L 7Sl 14 L'L I 7Sl 4 7Sl 14 80¢ 14 S - Ml —
000l |9 L9l I gee [4 L9l I L9l L L9l I WEEZT
000l |§ 009 € oor |2 B TYEE
000l |§ oor |2 002 I 002 I 002 I HEYE
000l |G 002 I ooy |2 002 I 002 I SF-%=
00 0 WETE
000l |61 €g I gol 14 1’12 14 gol 14 €92 S €9¢ S T - T
000l |6 [ I [N I 7 [4 [N I Ll I eee € WS
000l |6 'Ll L A 14 'Ll ! A4 12 LLL L TR -
000l |8 Gzl I Gzl I 6zl I 062 [4 6zl I 062 [4 R OE - B
000l |2 00§ I 00§ L Tk
0001 [er1 08 6 60 I a7 G L'6 kL LLL (14 g1l €l 0'€e 9 812 8¢ EEE
% B4 % W+ % W+ % W+ % W+ % W+ % W+ % ¥4 % W+

#e HOZ ommsw | oave wp | HHoBwes | LURE N wwomwsn |08 TETy | bnlurers

QLOZEE "

(% “H-THH)

<BERE> (HEF) G EZEMEYYRIY

ZUHECPOR 9I-NEF



000l |92 0 0 8¢ 1 8¢ L 9ve |6 69¢ L 80¢ |8 ] =)
000l | ceE I ceE I ceE I EY 14
000} |1 000} |1 S
0001 |1 000l | 0001 |1 ¥
000} |1 000} |1 EXTH
000} |1 0001 |1 EEREWHOX
00 |0 e LY L
000} |1 000} |1 W =Bk
00 0 Ea L]
000} |1 000} |1 g -=EE
000} |1 000} |1 g F XS
00 0 RESIS - PSR
0001 |1 000l |1 IEET
000l [ ¢ L[99 [¢ eee |1 ETYIAE
000} |1 000} [I WEYE
00 |o ZEZES
00 0 WhETC
000l |¥ 005 |¢ 0S¢ |1 06e |1 HET ) - B
000} |¢ 005 |1 00S |1 L)
00 0 e N - Y
000l [¥ 00S |¢ 005 |[¢ Wk - B
00 0 Rk E
000} |61 0 12y |8 £9¢ |s TEE e
% | BH |l % | BH | % | BEW | % [ BH | % [ BH | % | BEH | % | BH | % | B4
() LEE) (8BS H) (8 LEE)
s o L e (BeH) K €r4=9) (55} LEL)RE Ul (T (B} VEX) SEVY
Be | BURE (R0 muen o fawEe-Es| wamEs [FUET F| me)Ese

(% "+ 7))

(IEEF) AW YEFSH L FTWHHONGHMENY) LI-NZE



000!} |91 €9 | €9 | G6z9 |1 Gzl |z Gzl |z 06z v e1e |g g ]
00 |0 EYd—4
00 |0 E i
000! [z 000! [z EAE
00 [0 EXEH
00 |0 EEREWHO
000! [1 000!} |1 WXL LY L
000! [z 005 |[I 005 |1 W Z B
00 |0 B X[
00 o Wi -=lEE
000! [1 000! [1 SO & X E
000! [z 005 |1 00s [I QLY S| - X i T —
00 |0 TEEZ
00 [0 ETYIE
S [
000! [1 000! [1 Wy -z
00 |0 TETC
000! [¥ 06z |1 06z |1 005 [¢ NI} - B =
000! [z 0G | 00s I e )
00 o HEEN - [y
0001 |1 0001 |1 R - 50
00 [0 Wk
000! [¥1 L[ L1 L1 eyl [e eyl e eyl [e L£6e |g Eund
% | %H | % | %H | % [ %H | % [ %H | % | %H | % | %W | % | %W | % | % |

) EFE-Ed ! & L0EY—F] CixL \/GO—E g 8 LG ABIE

(% “H° The)
<RERE>YELOEHETWEHE 81-A




